Efficiency vs Dxy(PV)

0.2

PV)

0.8
> 0.16]
30.14
$0.12

0.1
0.08
0.06
0.04
0.02

vs dxy!

effi

0.

9555 20 15 10 5 0 5 10 15 20 25

TP dxy(PV) (cm

—_—

[ Efficienc] ——

—=— /data2/legianni/pareto-opt/restart/CMSSW_14_0_5/src/MTV-plot/DQM_TT__original_PU

DQM_TT__pLB_eta09_1PU
DQM_TT__pLB_eta09_2PU
DQM_TT__pLB_eta09_3PU

1.2

N

0.8]

efficiency vs dxy(PV)

0.6}

0.4]

0.2)f

Ratio

Efficiency vs Dz(PV)

0.8

0.7

0.6]

0.5

efficiency vs dz(PV)

0.4

0.3]

0.2]

Ratio

-10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)

0.8
0.7
0.6

0.5F

efficiency vs dz(PV)

0.4F
0.3F
0.2]

0.1

1.8

Ratio

0.95

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


